wwoczl

ﬁFﬂﬂl‘VEI_LEﬂK v 1600526

TRV 2PK UTV MIRROR LIGHT
WITH AMBER

User Manual

TRAvELLER D

Mirror light with

Universal Fit bracket-L

Lamp Body

1 of 16

Bolt

1600526

Mirror light with
Universal Fit bracket-R

Mirror light with
Pro Fit bracket-L

/ Lamp Body
.\

Mirror light with
Pro Fit bracket-R

Bolt

20f16

1600526

1600526
PARTS LIST
NO. [ Description Qty
1 M8*35mm bolt 4
2 Center hub 2
3 Universal Fit outer 1
mounting bracket (Left)
4 Univer_sal Fit outer _ 1
mounting bracket (Right)
5 Alignment ring 2
6 | M8*25mm bolt 2
7 2in Universal Fit rubber spacer 2
8 1.75in Universal Fit rubber spacer 2
9 1.5in Universal Fit rubber spacer 2
10 | M6 lock washer 4
11 | M6*16mm bolt 4
12 | Universal Fitinner mounting bracket 2
13 | M8 nut 4

Notice:The Universal Fit mounting bracket bases

3of 16

were pre-assembled on the mirror lights.

1600526
PARTS LIST
NO. | Description Qty
14 [ M8*35mm bolt 4
15 | Center hub 2
16 Pro Fit outer mounting 1
bracket (Left)
17 Pro Fit out_er mounting 1
bracket (Right)
18 M6 lock washer 4
19 [ M6*16mm bolt 4
20 | ProFitinner bracket (Large) 2
21 Pro Fit rubber isolator 2
22 | Pro Fit mounting bracket pad 2
23 Pro Fit inner bracket (small) 2
24 M8 nut 4
25 10A fuse 1

Notice:The Pro Fit mounting brackets are optional.

4 of 16

fﬁﬁﬂl’l’ll;’ufﬂx & 1600526

INTENDED USE

This TRV 2PK UTV MIRROR LIGHT WITH AMBER is designed to supply additional
light for UTVS & OTHER OFF-ROAD RECREATIONAL VEHICLES while drawing
very low additional amps. This rugged light features an IP68 weatherproof design
with bright cool white LED bulbs and amber light LED bulbs. It is constructed from a
durable aluminum housing and has an left and right dedicated bolt-on/bracket
(Polaris® Pro Fit and Universal Fit mounting brackets).

TECHNICAL SPECIFICATIONS

Item Description
Voltage DC 9v-36V
Beam Pattern Flood

Product Size For Universal Fit mounting brackets:10.82in.L x 5.11in.W x 6.93in.H

For Pro Fit mounting brackets:10.35in.L x 4.37in.W x 6.93in.H

Watts 45W
Beam Distance 374 ft.(114 m)
Raw Lumen 5,400

Effective Lumen 2,200

Mount Type Left and Right dedicated bolt-on/bracket (Polaris®

Pro Fit and Universal Fit mounting brackets)

50f 16

>

Fﬁﬂ'l'/ﬂl;[ﬂ ;’< 1600526

Mounting Instructions - Universal (Round Tube)
Mounting Brackets

1. Remove inner mounting bracket @ by removing the retaining M8 nuts ® and bolts
(M8*35mm) @ so the mirror looks like the image below.

2. Loosen center retaining bolt(M8*25mm) ® on the outside bracket @ (do not
remove) to allow slight separation of the outside bracket housing and the
eccentric adjustment ring.

Center retaining
bolt ®

6 of 16

frﬂﬂ'l'lﬂlfﬂx v 1600526

3. Hold the mirror assembly next to the desired mounting point on the vehicle.
4.Rotate the bracket and eccentric adjustment ring until the desired mounting angles
are achieved.

Outside bracket ®

5. Tighten the center retaining bolt(M8*25mm) ® while ensuring the locking teeth on
the bracket and the eccentric are aligned and locked.

6. Place the mirror assembly back to the desired mounting location on the vehicle
and secure it to the roll cage with the inner bracket @ assembly using the included
hardware. Round rubber spacers @ and ® and ®are included to protect paint and
provide proper fitment depending on the diameter of the roll cage.

7.Ensure the power cord is seated in the cutout provided on the bracket so it does
not pinch against the roll bar.

- Repeat operation for other side of vehicle

7 of 16

Fﬁﬂl‘l’lﬂl}' ; ¢ 1600526

Mounting Instructions - Polaris® Pro Fit Brackets

This item comes from the factory pre-assembled for round tube roll bar clamps. To
install the clamps to fit Polaris® Pro Fit roll cage, please use the following instructions.

1. Remove the inside bracket @ of the universal set by removing the two retaining bolts
(M8*35mm) @ and sliding out the hinge from the slot.

inside bracket
assembly- discard

2. Remove the center retaining bolt(M8*25mm) ® and alignment ring ® on the outside
bracket ® .(Keep these, you will need them later).

3. Remove the 2 small center hub bolts(M6*16mm) @ .
4. Remove the center hub @ and discard.
5. Remove the outer universal fit mounting bracket ® and discard.

8 of 16

TRAVELLERDE

pr _— 4

1600526

©

outside bracketsd ® - discard

Center hub®- discard

Alignment ring ® - keep

@ a—— Center retaining bolt

(M8*25mm) ® - keep

the two nuts @ and bolts @ .

6. Locate Polaris® Pro Fit bracket assembly. Remove the Pro Fit clamps by removing

Profit clamp assembly

9 of 16

Fﬁﬂl‘l’ll-'llj ; @ 1600526

7. Remove the bolts(M6*16mm) @ from the center hub ® and remove the hub from
outer mounting bracket @® (Please note the orientation of the hub for reassembly)

8. Pass the electrical wire through the outer mounting bracket @ .
9. Re-install the center hub @ on to mounting bracket @ using the previously removed
bolts(M6*16mm) @ .
10. Place outer mounting bracket @ on to eccentric adjustment ring ensuring the
locking teeth are aligned.
11. Reinstall the center retaining bolt(M8*25mm) ® and alignment ring ® . Do not
tighten,allow slight separation of the bracket housing and the eccentric
adjustment ring.
12. Hold the mirror assembly next to the desired mounting point on the vehicle.
13. Rotate the outer bracket @ and eccentric adjustment ring until the desired mounting
angles are achieved.

10 of 16

>

fFﬂﬂl’l’lElQ_-‘ﬂK ¥ 1600526

outside bracket

Center retaining bolt(M8*25mm) ®

14. Tighten the center retaining bolt(M8*25mm) ® while ensuring the locking teeth on
the bracket and the eccentric are aligned and locked.

15. Install the mirror to the vehicle using the Polaris® Pro Fit compatible bracket. A
rubber isolator @ is provided to ensure proper fitment and to protect the surface of
the roll cage.

Bracket clamp

Rubber isolator @

11 of 16

—— 1600526
ﬁfﬂﬂ'VEllEﬂx \

16. Ensure power cord is seated in the cutout provided on the bracket so it does not
pinch against the roll bar.

Cut out for cord

17. Repeat operation for the other side of the vehicle.

12 of 16

— 1600526
TRAVELLERDE

INSTALL THE LIGHT

Connect the female connector with the male connector.

Connect wiring terminal with battery. Red cable to positive of power source.
Black cable to negative of power source.

Mount the switch to the dashboard.

When the switch press to “ - 7, the amber LED “ON”.

When the switch press to “ 0 ”, the light “OFF”.

When the switch press to “ = 7, the white LED “ON”.

S

=
—7
—a

M

1)

L j
S _/ ‘7("_ . %’) \ }
Female Connector \%\%ﬁdfable black cable
+0 -
A
Male Connector & FUS{\

f

-

13 of 16

o 1600526
TRAVELLERp&
pr — 4 .
LIGHT BODY ADJUSTMENT
Mirror lights mounted on UTV cage with Eccentric adjustment in maximum upward tilt position.
/) N\

S5

Eccentric adjustment

Eccentric adjustment

14 of 16

>

TRAVELLER D

Adjust the tension for in/out movement of light
housing by unscrewing the cap to access the
M6*75mm bolt.

MIRROR ADJUSTMENT

Adjust the position of the glass mirror within the body by pressing on the corners of

the mirror.

1600526 > 1600526

TRAVELLER D

No user serviceable components inside.

Distributed by:

TRACTOR SUPPLY COMPANY
5401 VIRGINIA WAY
BRENTWOOD, TN 37027

For customer support,

Call: 1-888-376-9601
www.TractorSupply.com

MADE IN CHINA

15 of 16

16 of 16

120mm

120mm

120mm

120mm

120mm

120mm

120mm

120mm

120mm

120mm

120mm

120mm

120mm

120mm

120mm

120mm

120mm



